

AHMAD KARIMI*

YABLO'S PARADOXES IN NON-ARITHMETICAL SETTING

Abstract

Proving a paradox from very weak assumptions helps us to reveal what the source of the paradox is. We introduce a weak non-arithmetical theory in a language of predicate logic and give proofs for various versions of Yablo's paradox in this weak system. We prove *Always*, *Sometimes*, *Almost Always*, and *Infinitely Often* versions of Yablo's paradox in the presented weak axiom system, which is much weaker than the arithmetical setting.

Keywords: non-self-referential paradox, Yablo's paradox, weak systems

1. YABLO'S PARADOX

To counter a general belief that all the paradoxes have self-referential (circular) nature, Stephen Yablo designed a paradox that seemingly avoids self-reference (Yablo 1985, 1993). Since then much debate has been sparked in the philosophical community as to whether Yablo's Paradox is really circularity-free or involves some circularity, at least hidden or implicit (cf. Beall 2001, Bringsjord, van Heuveln 2003, Bueno, Colyvan 2003a, b, Ketland 2004, 2005, Priest 1997, Sorensen 1998, Yablo 2004). In this section, we focus on Yablo's paradox and show the existence of Yablo formulas using diagonal techniques.

Yablo considers the following sequence of sentences $\{\mathcal{Y}_i\}$:

$$\mathcal{Y}_1 : \forall k > 1; \mathcal{Y}_k \text{ is untrue,}$$

$$\mathcal{Y}_2 : \forall k > 2; \mathcal{Y}_k \text{ is untrue,}$$

* Department of Mathematics, Behbahan Khatam Alanbia University of Technology, Behbahan, Iran, karimi@bkatu.ac.ir.

$\mathcal{Y}_3 : \forall k > 3; \mathcal{Y}_k$ is untrue,

\vdots

There is no consistent way to assign truth values to all the statements, although no statement directly refers to itself. The paradox follows from the following deductions. Suppose \mathcal{Y}_1 is true. Then for any $k > 1$, \mathcal{Y}_k is not true. In particular, \mathcal{Y}_2 is not true. Also, \mathcal{Y}_k is not true for any $k > 2$. But this is exactly what \mathcal{Y}_2 says, hence y_2 is true after all. Contradiction! Suppose then that \mathcal{Y}_1 is false. This means that there is a $k > 1$ such that \mathcal{Y}_k is true. But we can repeat the reasoning, this time with respect to \mathcal{Y}_k and reach a contradiction again. No matter whether we assume \mathcal{Y}_1 to be true or false, we reach a contradiction. Hence the paradox.

Yablo's paradox can be viewed as a non-self-referential liar's paradox; it has been used to give alternative proof for Gödel's first incompleteness theorem (Cieśliński, Urbaniak 2013, Leach-Krouse 2014). In (Karimi 2019, Karimi, Salehi 2014, 2017), formalization of Yablo's paradox and its different versions in Linear Temporal Logic (LTL) yields genuine theorems in this logic. Recently, Yablo's strategy has been applied to present a non-self-referential version of Brandenburger–Keisler paradox (Brandenburger, Keisler 2006) in epistemic game theory (Karimi 2017).

Let S be a theory formulated in L_T , a language of first-order arithmetic extended with a one place predicate $T(x)$. By $\forall x T(\ulcorner \phi(x) \urcorner)$ we mean: for all natural numbers x , the result of substituting a numeral denoting x for a variable free in ϕ is true.

DEFINITION 1. *Let S be a theory in L_T . Formula $Y(x)$ is called a Yablo formula in S if it satisfies the Yablo condition, i.e., if $S \vdash \forall x [Y(x) \equiv \forall z > x \neg T(\ulcorner Y(z) \urcorner)]$. Yablo sentences are obtained by substituting numerals for x in $Y(x)$. (Cieśliński 2013)*

It is easy to prove the existence of Yablo formulas for all theories extending Robinson's arithmetic (Ketland 2004, Priest 1997). For this, we apply generalized diagonal lemma:

THEOREM 1. *(Generalized Diagonal Lemma) Let S be a theory in L_T extending Robinson's arithmetic. Then for any formula $\mathcal{G}(x, y)$ in L_T , there is a formula $\phi(x)$ such that*

$$(1) \quad S \vdash \phi(x) \equiv \mathcal{G}(x, \ulcorner \phi(x) \urcorner).$$

To construct a Yablo formula, consider the following arithmetized formula of Yablo's sequence:

$$\mathcal{G}(x, y) := \forall z > x \neg T(\text{Sub}(y, z)),$$

where $\text{Sub}(y, z)$ is the substitution function. Applying diagonal lemma for $\mathcal{G}(x, y)$, there exists Yablo formula $Y(x)$ for which:

$$(2) \quad S \vdash Y(x) \equiv \forall z > x \neg T(\text{Sub}(\ulcorner Y(x) \urcorner, z)).$$

Yablo's paradox appears in several varieties (Yablo 2004):

$$\textit{Always Yablo's paradox: } \forall x [Y(x) \equiv \forall z > x \neg T(\ulcorner Y(z) \urcorner)]$$

$$\textit{Sometimes Yablo's paradox: } \forall x [Y(x) \equiv \exists z > x \neg T(\ulcorner Y(z) \urcorner)]$$

$$\textit{Almost Always Yablo's paradox: } \forall x [Y(x) \equiv \exists z > x \forall t \geq z \neg T(\ulcorner Y(t) \urcorner)]$$

$$\textit{Infinitely Often Yablo's paradox: } \forall x [Y(x) \equiv \forall z > x \exists t \geq z \neg T(\ulcorner Y(t) \urcorner)]$$

Sometimes Yablo's paradox is the dual version of the *Always* one. Indeed, using $\neg Y(x)$ instead of $Y(x)$ in *Always Yablo's paradox*, one can easily derive *Sometimes Yablo's paradox*. Note that *Infinitely Often Yablo's paradox* is also the dual version of *Almost Always Yablo's paradox*.

The dual of Yablo's paradox, i.e., *Sometimes Yablo's paradox*, was first given by Roy T. Cook (2004). *Almost Always Yablo's paradox* and its dual variant, i.e., *Infinitely Often Yablo's paradox*, were put forward by Yablo (2004). Yablo's paradox and the above two variants were generalized by Philippe Schlenker (2007). The notion of unwinding was formulated by Cook (2004, 2014), who presented a uniform framework in which many variations of Yablo's paradox proceed by varying the quantifier used at the beginning of each of the sentences. He considers an infinite sequence of sentences, each of which says that infinitely many (but not necessarily all) of the sentences below it are false. The main problem here is what patterns of sentential reference generate semantic paradoxes.

2. YABLO'S PARADOX AND ω -INCONSISTENT THEORIES OF TRUTH

Jeffrey Ketland (2005) shows that Yablo's sentences have a non-standard model. He argues that the list of Yablo sentences is ω -paradoxical, in the sense that it is unsatisfiable on the standard model \mathbb{N} of arithmetic. He has translated Yablo's paradox into first-order logic called Uniform Homogeneous Yablo Scheme (UHYS):

$$(UHYS): \quad \forall x(\varphi(x) \leftrightarrow \forall y[xRy \rightarrow \neg\varphi(y)]),$$

where R is a binary relation symbol, with the auxiliary axioms stating that R is serial and transitive:

(SER): $\forall x \exists y (xRy)$,

(TRANS): $\forall x, y, z (xRyRz \rightarrow xRz)$.

A Yablo-like argument can show that the formula $\neg(\text{UHYS} \wedge \text{SER} \wedge \text{TRANS})$ is a first-order tautology (Karimi, Salehi 2014), i.e., UHYS is inconsistent, together with SER and TRANS. Note that the inconsistency of UHYS arises irrespective of what φ means, provided that R is serial and transitive. Ketland (2005) shows that the associated set of numerical instances of UHYS is consistent as it has a non-standard model.

However, for getting a contradiction from UHYS, the formula R need not be transitive (i.e., satisfy TRANS) — a weaker condition such as the following will do:

(W-TRANS): $\forall x \exists y (xRy \wedge \forall z [yRz \rightarrow xRz])$.

One can easily show that W-TRANS does not imply TRANS (but implies SER), and so W-TRANS is weaker than TRANS.¹

Eduardo A. Barrio (2010), Barrio and Lavinia Picollo (2013), and Barrio and Bruno Da Ré (2018) focus on Yablo's paradox and ω -inconsistent theories of truth. Barrio (2010) argues that Yablo's sequences yield new boundaries to expressive capabilities of certain axiomatic theories of truth. He shows that Yablo's sentences have no model in second order PA, but even in this case the sequence is consistent. Barrio and Lavinia Picollo (2013) show that adopting ω -inconsistent truth theories for arithmetic in the second-order case leads to unsatisfiability.

Shunsuke Yatabe (2011) reviews Yablo's paradox to analyze the computational content of ω -inconsistent theories and explains the correspondence between co-induction and ω -inconsistent theories of truth. Yatabe argues in favor of ω -inconsistent first-order theories of truth as he believes that they are intrinsically equipped with a machinery, co-induction, which is useful to prove properties of infinite structures. Against Yatabe, Barrio and Da Ré (2018) present some undesirable philosophical features of ω -inconsistent theories and identify five conceptual problems as results of ω -inconsistency.

In the rest of the paper, we introduce a weak non-arithmetical setting and prove various versions of Yablo's paradox in this weak system.

¹ To see that $\neg(\text{UHYS} \wedge \text{W-TRANS})$ is a first-order logical tautology, cf. (Karimi, Salehi 2014).

3. WEAK NON-ARITHMETICAL SETTING

In order to prove Yablo's paradox in a weak setting, Volker Halbach and Shuoying Zhang introduce a weak theory in a language of predicate logic (Halbach, Zhang 2017). By "proving a paradox" we mean that in a given theory, with strictly specified assumptions, we can derive a contradiction and conclude that this theory with such and such inference rules captures or formalizes the paradoxical reasoning. We assume the reader is familiar with the general notations Halbach and Zhang (2017) used to proceed, but we list the main notations, definitions, and theorems that will be employed below. The language contains identity symbol, a binary predicate symbol $<$, and a ternary predicate symbol $\text{Sat}(x, y, z)$. Adding countably many new constants c_1, c_2, \dots to the language, for each formula φ in the language one can define a closed term $\overline{\varphi}$ in that language. Applying the same reasoning as Yablo's, we simply prove that the theory Y given by T -schema (TS) and two axioms is inconsistent:

$$\text{(TS):} \quad \forall x \forall y (\text{Sat}(\overline{\varphi(x, y)}, x, y) \leftrightarrow \varphi(x, y))$$

$$\text{(SER):} \quad \forall x \exists y x < y$$

$$\text{(W-TRANS):} \quad \forall x \exists y x < y \wedge \forall z (y < z \rightarrow x < z),$$

where TS is a variant of the uniform T -schema (Halbach, Zhang 2017). " Sat " stands for satisfaction and it is to be read: For all x and y , the formula $\overline{\varphi(x, y)}$ is satisfied by x and y if and only if $\varphi(x, y)$.

Although the sentences in Yablo's paradox are indexed by numbers, Ketland showed, for an arithmetical setting, that only a serial and transitive relation is needed to obtain the paradox (2005). Halbach and Zhang (2017) introduce a weak non-arithmetical theory including only TS, SER, and TRANS axioms in a language of predicate logic and prove Yablo's paradox in this weak setting.

Note that W-TRANS not only is weaker than TRANS but also implies SER. Therefore, in this paper, we weaken the non-arithmetical system Y to include only TS and W-TRANS and prove various versions of Yablo's paradox in this non necessarily arithmetical setting. The presented system is much weaker than the one applied by Halbach and Zhang (2017) to prove Yablo's paradox. In fact, we try to obtain various versions of Yablo's paradox from as weak assumptions as we can get. By proving the paradox in minimal settings, we come closer to a better understanding of the paradox structure and hope to extend our knowledge of what the source of the paradox is.

3.1. ALWAYS YABLO'S PARADOX

An abbreviation of *Always* Yablo's paradox is:

$$\forall n(y_n \Leftrightarrow \forall i > n (y_i \text{ is not true})).$$

We use the notation used by Halbach and Zhang (2017) and prove Yablo's paradox in our weak system. We write $\forall z > y \varphi$ for $\forall z (z < y \rightarrow \varphi)$ and $\overline{\psi_\forall}$ for $\overline{\forall z > y \neg \text{Sat}(x, x, z)}$. Instantiating $\varphi(x, y)$ with ψ_\forall in TS, we have:

$$(3) \quad Y \vdash \forall x \forall y (\text{Sat}(\overline{\psi_\forall}, x, y) \Leftrightarrow \forall z > y \neg \text{Sat}(x, x, z))$$

$$(4) \quad Y \vdash \forall y (\text{Sat}(\overline{\psi_\forall}, \overline{\psi_\forall}, y) \Leftrightarrow \forall z > y \neg \text{Sat}(\overline{\psi_\forall}, \overline{\psi_\forall}, z))$$

The second equation is obtained by universal instantiation. To prove Yablo's paradox in our weak system Y , we assume that $\text{Sat}(\overline{\psi_\forall}, \overline{\psi_\forall}, a)$ for some a and reason in Y as follows: by W-TRANS, there is some b such that $a < b$ and $\forall z (b < z \rightarrow a < z)$. Since $a < b$ and $\text{Sat}(\overline{\psi_\forall}, \overline{\psi_\forall}, a)$ hold, then by (4), $\neg \text{Sat}(\overline{\psi_\forall}, \overline{\psi_\forall}, b)$ should hold. Again by (4), there exists some c for which $b < c$ and $\text{Sat}(\overline{\psi_\forall}, \overline{\psi_\forall}, c)$. Since $a < b$, and $b < c$, then $a < c$ by W-TRANS, therefore by (4), we have $\text{Sat}(\overline{\psi_\forall}, \overline{\psi_\forall}, c)$, which is a contradiction! Thus, $\neg \text{Sat}(\overline{\psi_\forall}, \overline{\psi_\forall}, a)$ holds for all a . For arbitrary a , by W-TRANS, there exists some b such that $a < b$ and by (4) we have $\text{Sat}(\overline{\psi_\forall}, \overline{\psi_\forall}, b)$. Again, repeating the above argument yields contradiction.

3.2. SOMETIMES YABLO'S PARADOX

As mentioned before, Yablo's paradox comes in several versions (Yablo 2004). A dual version of *Always* Yablo's paradox is *Sometimes* Yablo's paradox: Consider infinite sequence of sentences $\{\mathcal{Y}_i\}_{i=0}^\infty$ each of which says "there exists a forthcoming sentence that is not true":

$$\mathcal{Y}_0 : \exists i > 0 (\mathcal{Y}_i \text{ is not true})$$

$$\mathcal{Y}_1 : \exists i > 1 (\mathcal{Y}_i \text{ is not true})$$

$$\mathcal{Y}_2 : \exists i > 2 (\mathcal{Y}_i \text{ is not true})$$

$$\vdots \quad \quad \quad \vdots$$

In short,

$$\forall n(\mathcal{Y}_n \Leftrightarrow \exists i > n (\mathcal{Y}_i \text{ is not true})).$$

Again we write $\forall z > y \varphi$ for $\forall z (z < y \rightarrow \varphi)$ and $\overline{\psi_{\exists}}$ for $\overline{\exists z > y \neg \text{Sat}(x, x, z)}$. Instantiating $\varphi(x, y)$ with ψ_{\exists} in TS and then universal instantiation $\overline{\psi_{\exists}}$ yield:

$$(5) \quad Y \vdash \forall y (\text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, y) \leftrightarrow \exists z > y \neg \text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, z))$$

In order to prove *Sometimes* Yablo's paradox in a weak setting, assume $\text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, a)$ for some a . By (5), there is some $b > a$ for which $\neg \text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, b)$, thus, for all $c > b$ we have $\text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, c)$. Choose an arbitrary fixed c . Since $\text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, c)$ holds, there exists $d > c > b$ for which $\neg \text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, d)$. On the other hand, since $\neg \text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, b)$ holds, then $\neg \text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, b)$ must hold. Contradiction! Therefore, $\neg \text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, a)$ for all a . Thus, for all a , $\forall z > a \neg \text{Sat}(\overline{\psi_{\exists}}, \overline{\psi_{\exists}}, z)$. Choose a specific and fixed z and apply above reasoning to reach a contradiction.

3.3. ALMOST ALWAYS YABLO'S PARADOX

Let us focus now on *Almost Always* Yablo's paradox. Let $\mathcal{Y}_0, \mathcal{Y}_1, \mathcal{Y}_2, \dots$ be a sequence of sentences in which each sentence, roughly speaking, says "all sentences, except finitely many, after this sentence are false." Mathematically, this sequence is as follows:

$$\begin{aligned} \mathcal{Y}_0 &: \exists i > 0 \forall j \geq i (\mathcal{Y}_j \text{ is not true}) \\ \mathcal{Y}_1 &: \exists i > 1 \forall j \geq i (\mathcal{Y}_j \text{ is not true}) \\ \mathcal{Y}_2 &: \exists i > 2 \forall j \geq i (\mathcal{Y}_j \text{ is not true}) \\ &\vdots \qquad \qquad \qquad \vdots \end{aligned}$$

In short,

$$\forall n (\mathcal{Y}_n \leftrightarrow \exists i > n \forall j \geq i (\mathcal{Y}_j \text{ is not true})).$$

The paradox arises when we try to assign truth values in a consistent way to all sentences \mathcal{Y}_i 's. Assume for a moment that there is a sentence (say) \mathcal{Y}_n which is true; so there exists $i > n$ for which all \mathcal{Y}_j with $j \geq i$ are untrue. In particular, \mathcal{Y}_i is untrue. Since all the sentences $\mathcal{Y}_{i+1}, \mathcal{Y}_{i+2}, \dots$ are untrue, so \mathcal{Y}_i has to be true. Therefore, \mathcal{Y}_i is true and false at the same time, which is a contradiction. Hence, all \mathcal{Y}_n 's are untrue, so \mathcal{Y}_0 is true; again a contradiction.

We write $\overline{\psi_{\exists\forall}}$ for $\overline{\exists z > y \forall w \geq z \neg \text{Sat}(x, x, w)}$. Instantiating $\varphi(x, y)$ with $\psi_{\exists\forall}$ in TS and then universal instantiation $\overline{\psi_{\exists\forall}}$ yield:

$$(6) \quad Y \vdash \forall y (\text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, y) \leftrightarrow \exists z > y \forall w \geq z \neg \text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, w))$$

To prove the paradox, assume that $\text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, a)$ for some a . By (6), there exists $z > a$ for which $\forall w \geq z \neg \text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, w)$. In particular, for $w = z$, we have $\neg \text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, z)$. Since for all $w > z$, $\neg \text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, w)$ hold, $\text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, z)$ must hold, which is a contradiction! Thus, $\neg \text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, a)$ for all a . Consider a fixed a . There exists $z > a$ (by W-TRANS) such that

$$\forall w \geq z \neg \text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, w)$$

holds (indeed, $\neg \text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, w)$ holds for all w). By (6), $\text{Sat}(\overline{\psi_{\exists\forall}}, \overline{\psi_{\exists\forall}}, w)$ holds, which is a contradiction.

3.4. INFINITELY OFTEN YABLO'S PARADOX

For *Infinitely Often* Yablo's paradox, let $\mathcal{Y}_0, \mathcal{Y}_1, \mathcal{Y}_2, \dots$ be a sequence of sentences in which each sentence says "infinitely many sentences after this sentence are false." Mathematically, this sequence is as follows:

$$\mathcal{Y}_0 : \forall i > 0 \exists j \geq i (\mathcal{Y}_j \text{ is not true})$$

$$\mathcal{Y}_1 : \forall i > 1 \exists j \geq i (\mathcal{Y}_j \text{ is not true})$$

$$\mathcal{Y}_2 : \forall i > 2 \exists j \geq i (\mathcal{Y}_j \text{ is not true})$$

$$\vdots \qquad \qquad \qquad \vdots$$

In short,

$$\forall n (\mathcal{Y}_n \leftrightarrow \forall i > n \exists j \geq i (\mathcal{Y}_j \text{ is not true})).$$

We write $\overline{\psi_{\forall\exists}}$ for $\overline{\forall z > y \exists w \geq z \neg \text{Sat}(x, x, w)}$. Instantiating $\varphi(x, y)$ with $\overline{\psi_{\forall\exists}}$ in TS and then universal instantiation $\overline{\psi_{\forall\exists}}$ yield:

$$(7) \quad Y \vdash \forall y (\text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, y) \leftrightarrow \forall z > y \exists w \geq z \neg \text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, w))$$

In order to prove the paradox, assume that $\text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, a)$ for some a . By (7), we have:

$$\forall i > a \exists j \geq i \neg \text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, j).$$

Choose fixed $b > a$ and $c \geq b$ for which $\neg \text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, c)$. On the other hand, by W-TRANS, for all $i > c$ we have $i > a$, therefore, $\forall i > c \exists j \geq i \neg \text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, j)$ holds, which means $\text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, c)$. Contradiction! Thus,

$\neg\text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, a)$ for all a .

Let $\neg\text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, a)$ for an arbitrary and fixed a . By *W-TRANS*, for every $i > a$ there exists $j \geq i$ for which $\neg\text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, a)$.² This means that $\text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, a)$, which is a contradiction.

The main problem here is that the schema *TS* by itself is inconsistent. Halbach and Zhang (2017) reformulate Visser's paradox (Visser 1989) to give a solution to this problem. They weaken *TS* into a consistent principle that can be shown to be inconsistent with *W-TRANS*. Visser (1989) considered the set of *T*-sentences $T_n\bar{\varphi} \leftrightarrow \varphi$. His main observation was that φ is a sentence containing only truth predicates with index $k > n$. He showed that this set of *T*-sentences is ω -inconsistent over arithmetic. Reformulating Visser's paradox, we use the satisfaction predicate $\text{Sat}_x(y, z, w)$ (x is a quantifiable variable) for formulas where all quantifiers over indices are restricted to objects v with $v > y$ (Halbach, Zhang 2017). Instead of *TS* we use the following axiom:

(VS): $\forall x \forall y (\text{Sat}_y(\overline{\varphi(x, y)}, x, y) \leftrightarrow \varphi(x, y))$,

where all occurrences of variables in index position $\varphi(x, y)$ must be bound. In contrast to *TS*, it is shown that the schema *VS* by itself is consistent (Halbach, Zhang 2017). If $\overline{\psi_{\forall}}$ is defined as $\overline{\forall z > y \neg\text{Sat}_z(x, x, z)}$ in Section 3.1, the proof still works and shows that *W-TRANS* together with *VS* are inconsistent.

CONCLUSIONS

The above proofs for various versions of Yablo's paradox in a weak system can help to characterize the nature of these paradoxes. Usually, Yablo's paradox is presented in the context of the theory of arithmetic, but we have shown that one can derive a contradiction in a very weak theory of first-order logic, including axioms *TS* and *W-TRANS*.

² Actually, $\neg\text{Sat}(\overline{\psi_{\forall\exists}}, \overline{\psi_{\forall\exists}}, a)$ holds for all j .

BIBLIOGRAPHY

- Barrio E. A. (2010), "Theories of Truth without Standard Models and Yablo's Sequences," *Studia Logica* 96(3), 375-391. <https://doi.org/10.1007/s11225-010-9289-8>
- Barrio E. A., Da Ré B. (2018), "Truth without Standard Models: Some Conceptual Problems Reloaded," *Journal of Applied Non-classical Logics* 28(1), 122-139. <https://doi.org/10.1080/11663081.2017.1397326>
- Barrio E. A., Picollo L. (2013), "Notes on ω -Inconsistent Theories of Truth in Second-Order Languages," *The Review of Symbolic Logic* 6(4), 733-741. <https://doi.org/10.1017/S1755020313000269>
- Beall J. C. (2001), "Is Yablo's Paradox Non-circular?," *Analysis* 61(3), 176-187. <https://doi.org/10.1111/1467-8284.00292>
- Brandenburger A., Keisler H. J. (2006), "An Impossibility Theorem on Beliefs in Games," *Studia Logica* 84(2), 211-240. <https://doi.org/10.1007/s11225-006-9011-z>
- Bringsjord S., van Heuveln B. (2003), "The 'Mental Eye' Defence of an Infnitized Version of Yablo's Paradox," *Analysis* 63(1), 61-70. <https://doi.org/10.1093/analys/63.1.61>
- Bueno O., Colyvan M. (2003a), "Yablo's Paradox and Referring to Infinite Objects," *Australasian Journal of Philosophy* 81(3), 402-412. <https://doi.org/10.1080/713659707>
- Bueno O., Colyvan M. (2003b), "Paradox without Satisfaction," *Analysis* 63(2), 152-156. <https://doi.org/10.1111/1467-8284.00026>
- Cieśliński C. (2013), "Yablo Sequences in Truth Theories" [in:] *Logic and Its Applications: ICLA 2013*, K. Lodaya (ed.), Berlin—Heidelberg: Springer, 127-138.
- Cieśliński C., Urbaniak R. (2013), "Gödelizing the Yablo Sequence," *Journal of Philosophical Logic* 42(5), 679-695. <https://doi.org/10.1007/s10992-012-9244-4>
- Cook R. T. (2004), "Patterns of Paradox," *Journal of Symbolic Logic* 69(3), 767-774. <https://doi.org/10.2178/jsl/1096901765>
- Cook R. T. (2014), *The Yablo Paradox: An Essay on Circularity*, Oxford: Oxford University Press.
- Halbach V., Zhang S. (2017), "Yablo without Gödel," *Analysis* 77(1), 53-59. <https://doi.org/10.1093/analys/anw062>
- Karimi A. (2017), "A Non-self-referential Paradox in Epistemic Game Theory," *Reports on Mathematical Logic* 52, 45-56.
- Karimi A. (2019), "Syntactic Proofs for Yablo's Paradoxes in Temporal Logic," *Logic and Logical Philosophy*, forthcoming.
- Karimi A., Salehi S. (2014), "Theoremizing Yablo's Paradox," Preprint arXiv:1406.0134.
- Karimi A., Salehi S. (2017), "Diagonal Arguments and Fixed Points," *Bulletin of the Iranian Mathematical Society* 43(5), 1073-1088.
- Ketland J. (2004), "Bueno and Colyvan on Yablo's paradox," *Analysis* 64(2), 165-172. <https://doi.org/10.1111/j.1467-8284.2004.00479.x>
- Ketland J. (2005), "Yablo's Paradox and ω -Inconsistency," *Synthese* 145(3), 295-302. <https://doi.org/10.1007/s11229-005-6201-6>
- Leach-Krouse G. (2014), "Yablifying the Rosser Sentence," *Journal of Philosophical Logic* 43(5), 827-834. <https://doi.org/10.1007/s10992-013-9291-5>
- Priest G. (1997), "Yablo's Paradox," *Analysis* 57(4), 236-242. <https://doi.org/10.1111/1467-8284.00081>

- Schlenker P. (2007), "The Elimination of Self-Reference: Generalized Yablo-Series and the Theory of Truth," *Journal of Philosophical Logic* 36(3), 251-307. <https://doi.org/10.1007/s10992-006-9035-x>
- Sorensen R. A. (1998), "Yablo's Paradox and Kindred Infinite Liars," *Mind* 107(425), 137-155. <https://doi.org/10.1093/mind/107.425.137>
- Visser A. (1989), "Semantics and the Liar Paradox" [in:] *Handbook of Philosophical Logic*, D. M. Gabbay, F. Guentner (eds.), vol. 11, Dordrecht: Springer, 617-706.
- Yablo S. (1985), "Truth and Reflection," *Journal of Philosophical Logic* 14(3), 297-349. <https://doi.org/10.1007/BF00249368>
- Yablo S. (1993), "Paradox without Self-Reference," *Analysis* 53(4), 251-252. <https://doi.org/10.1093/analys/53.4.251>
- Yablo S. (2004), *Circularity and Paradox* [in:] *Self-Reference*, T. Bolander, V. F. Hendricks, S. A. Pedersen (eds.), Stanford, CA: Center for the Study of Language and Information, 139-157.
- Yatabe S. (2011), "Yablo-like Paradoxes and Co-induction" [in:] *New Frontiers in Artificial Intelligence: JSAI-isAI 2010. Lecture Notes in Computer Science*, vol. 6797, T. Onada, D. Bekki, E. McCready (eds.), Berlin-Heidelberg: Springer, 90-103. https://doi.org/10.1007/978-3-642-25655-4_8